1,GO

True?

2,G1

True?

4,G2

True?

Mg_ki1>1?
Mg_k2:=Mg_kl-1
Mg_kl:=1

6,G5

Mg _k1=1?

True?

True? [/ Mg_kl:=Mg_k2+Mg_kl

Mg_k2:=Mg_k3
Mg_k3:=0

Mg_k2>1?
Mg_k3:=Mg_k2-1
Mg_k2:=1

Mg _k1=1?

Mg_k1>1? @ Mg_k2>1?

True?

5,G14

Mg k2=1?

True?
Mg_kl1:=Mg_k2+Mg_kl
Mg_k2:=0

True?

True?

3,G11

)

True?

&

g k2=17? Mg_k2>1? Mg_kl1=1?



Gl6 undef y

ext

ext /next

<

null



G18 undef y

ext

ext /next

<

null



G5

undef

ext -

ext -
A T 4

null



G8 undef X y

ext pnext -
»

null



G10 undef y t X

ext /next

<

null



G12 undef X t

ext /next

<

null



Gl4 undef t y

ext /next

<

null



G15 undef t y

ext pnext -
»

null



G17

undef

ext -

ext -
A T 4

null



GO undef X

ext

null



Gl

undef

X

ext -
T 4

null



G2

undef

X

ext -
T 4

null



G3

undef

ext -
T 4

null



G4

undef

ext K
v »

null



G6

undef

ext K
v »

null



G9

undef

t

ext -
T 4

null



Gll

undef

ext -
T 4

null



G13

undef

t

ext -
T 4

null



